RAS54V

Acier zingué

Zinc plated steel
Stahl silbern verzinkt
Pozinkovana ocel
Acero zincado
Acciaio zincato
Verzinkt staal
OumMHKOoBKa

Stal ocynkowana

www.chambrelan.com/RA554

Visuel non contractuel

STH558V

Inox

Stainless steel
Edelstahl

Nerezova ocel

Acero inoxidable
Acciaio inox

Roestvrij staal
Hep>kaBetowas cTtanb

Stal nierdzewna

|
[=]

www.chambrelan.com/ST558

info@chambrelan.com

Super Extension
Over Extension
Uberausziige

Extra vysuv

Super Extension
Super Estensione
Over uittrekbaar
CBepxBblaBUXEHNE

Wysuw powyzej pelnego

CHAMBRELA

Francais
English
Deutsch
Cesky
Espanol
Italiano
Nederlands
Pycckui

Polski

www.chambrelan.com

www.chambrelan.com

2
3
4
5
6
7
8
9

>




A C D E F G H | J
. 4k 217 Az wi A\ A \Aﬁ — ]
& & =0 S~
&4 M6 @A Vis de maintien de
(#6.5) F.90° #12.5 butée pour le transport
/ﬂ_ r } 7.5 25 (7.5)
— PROFIL : L c
2 ) £ 2
9.1
. ©.1) 50 50 F c 50 (50)
\Eﬁg 5 ~
. 3 7 = N —
5 -
3 \ 3
T 1_27_’3 D
19 +— 35 68 ~
N jﬁ 17
— ) 3 4 /—M6X1 2 96,2 \ — -
L /
e—é' ' i 7 7 7 = S
N = ” t 7 ’l ’l \‘ : T 4}
= I ﬂ 7 T T
(1.15) 1 / + 7 © : =il
(3.2) ’ 7
. 25 25 15 Pergages complémentaires (31) I~
— — our Ig > 550
— MATIERE RA554V__| ST558V | = = pour g > (45)
5| 1 — Curseur Acier Inox . L 5
2 — Petit intermédiaire Acier Inox — Unité en mm
3 — Grand intermédiaire Acier Inox * Charge uniformément répartie pour une paire de glissieres.
4 — Extérieur Acier Inox [l ch A CHANT
— Bi —@6— f — Charge
] g (E:illles gsb‘ﬁs o4 ﬁc!er :nox Production suivant les tolérances générales —
— Cage illes cier nox icati
g \=3 — Charge A PLAT de fabrication (www.chambrelan.com/1016)
— Résultats donnés suivant notre protocole d’essais de charge RASS4V — STo38V CHAMBRELAN
6 | — TRAITEMENT Zincage | — | (voir sur www.chambrelan.com) _a_@_| 29.03.2016 ,.‘) 6
— POIDS 6.9 kg/m | L 300 (350|400 |450 [500 (550|600 |650 [ 700 (750|800 | 850 [900 (950 |1000{1050{1100{ 1150|1200
— OPTIONS : c 150200 — [ == =-1-=-T-=-T-=-T=-1T-T-=-T=T=T=-1T=T=1T=-71=
_ E — | =TJ200]250f300 = [ = [ = [ =1 =-1=-1T=1T=-1T=1T=-1=-1=-1T-T-1
Longueur des glissiéres, développement, traitements, F - [ -1-1-1- |150[175|200{225|250|275 (300|325 [350 375 | 400 [425 |450 475
¢ et entraxes de pergages sur demande. G — [ =1 =1-=1-1200]225]250]275]300]325]|350(375 [400 425450 [475[500]525
D 4701540]630|700|770|840]|930|1000/1070{1140{1230{1300{1370]1440]1530]|1600|1670| 1740|1830
7 [l Charge* (Kg)|| 75 [ 92 |106]112|116]114]111]105[ 98 |90 |82 [ 73|64 |56 [ 50|42 | 36 (30| 25|7
ANE JAMAIS DEMONTER LA GLISSIERE ! Fleche (mm)| 9 |12 (15|18 |19 |20 (21|21 |22 |22 (21|21 |21 |21 |22 |22 |24 |25 26
= Charge* (Kg)|| 30 |27 (25| 2220|1817 [15]|13|12|11[10]| 8 7 6
Aucune modification ne doit &tre apportée a la glissiére ! Fleche (mm)|| 10 | 14 | 18 | 20 | 23 | 26 | 29 | 32 | 35 | 39 | 42 | 46 | 50 | 54 | 60
ggmm;;'lﬁ::u :Lqpmdulh sans aver - unl préavis. Dnlr?n:ld :tn:” o l D V l G l H l | l J




wi A\ A

7.5

5| ~ PROFILE : b
(9.1)
t -
i A
ey =>7
XK
3 M 1_;3 <7D
19

W
4]
)]
0o

’)& ||—|‘

I

—\
% = Beee-
Travel stops
(#6.5) CSK.90" 812.5 for transportation
25 (7.5)
C
E

- %0 3 G 50 (50)

/- M6x1

F Ay

¥ ¥

oo o+

(11.2)

(1.15) - -+ 7 T : =
(3.2) i i \f/
m 25 | 25 | 15 Additional drilling for above 1)
— MATERIAL [ RAS54v_| stesav | = = lenghts if L > 550 (45)
5| 1 — Inner beam Steel _ [Stainless_steel o L
2 — Intermediate beam Steel Stainless_steel . Dimensions in mm ) .
3 — Intermediate beam Steel Stainless steel Loads indicated for a pair of slides
4 — Outer beam Steel Stainless _steel [l Load i . .
_ . CAR_ . — Load in a major axis
] 2 geﬁrmg 98—06—04 :tee: g::(]!n:ess Stee: Production according our general manufacturing
- all cages ee ainiess stee
g =3 — Load in @ minor axis tolerances (www.chambrelan.com/1016)
— Results given according to our load testing protocol RAS54v — ST858V CHAMBRELAN
6 | — SURFACE FINISH [Zinc plating] — | ( www.chambrelan.com ) a_@_| 29.03.2016 }.;)
— WEIGHT | 6.9 kg/m | L 300[350[400[450(500[550 [600]650]700]750]800[850[900 [950[1000]1050]1100] 1150] 1200
— OPTIONS : C 150200 - | = |- |- |-|-{-1-|1-{-1-1-{-1-1-1-1-
_| E - | = ]200]250(300] - | - [ - -[-|-|-|-]-|-[-1-[-1]-
Different slide lengths, extension, 'sun‘oce finish, F - [ -1-1-1- |150[175|200{225|250|275 (300|325 [350 375 | 400 [425 |450 475
® and holes centres to customer's requirement. G - | === - |200]|225[250]|275]|300|325[350 375 [400 425|450 |475 [500 525
D 470|540 (630(700 (770 [840 [930]1000]|1070]1140]1230{ 1300{1370{1440{1530] 1600[1670] 1740|1830
7 [l Load* (Kg) || 75| 92 [106{112[116[114[111]|105] 98 |90 |82 |73 |64 [56 |50 42| 36|30 ]| 25
ADO NOT DISMOUNT THE SLIDE ! Deflexion (mm)| 9 [12[15[ 18|19 |20 21|21 {2222 (21|21 |21 |21 ]| 2222|2425/ 26
) ) i |Load* (kg) |[30[27[25[22[20[18[17][15[13[12][11[10[8[7[6
Do not modify the slides ! Deflexion (mm)|| 10 | 14 | 18 | 20 | 23 | 26 | 29 | 32 | 35 | 39 | 42 | 46 | 50 | 54 | 60
In a constant effort of improvement, the compagny reserves the right D V | G | H | | | J
to modify its products without notice. No




A B c D E F G H I J
[
ezl A7 Az W\ 7 B —
& = Ses s
d; M6 @ A nur flr Halterung
(6.5) F.90° #12.5 des Anschlags
= 75 25 @9
— PROFIL : [of
E
9.1
. 1) 50 50 F G 50 (50)
\Eﬁg 5 ~
u 3 , 7~ = S
- |2 -
N\
T 1_27_’§
19 +— 35 68 ~
n jﬁ 17
’ 3 4 /-M6x1 2962 \ ]
6 é;. T y 4 : = S ==
1 T / ; : : : SR
= 1 —E=—ee | ¥ + o6 o+ N
= /[ / ‘\ I, Li It 4
(1.15) | 7 ; / +
(3.2) 7
25 | 25 | 15 zusitzliche Bohrungen (31
— fir Ldngen > 550
— Material [ RAS54V | sT1558V | = - (45)
1 — Kleine innenschiene Stahl Edelstahl . L
2 — Mittelschiene Stahl Edelstahl - Mage in mm
3 — groge Mittelschiene | Stahl Edelstahl Belastungsangaben gelten pro Paar
4 — Augenschiene Stahl Edelstahl [l Traafihiakeit rodial
- ragrani et raadia
5 - KuQem_¢8_¢6_¢4 Stahl Edelstahl granis Herstellung nach unseren allgemeinen
6 — Kugelleisten Stahl Edelstahl Herstellungstoleranzen (siehe www.chambrelan.com/1016)
L= — Tragfdhigkeit axial
— Resultate nach unserem {blichen Testverfahren RAS54v — ST858V CHAMBRELAN
— Oberfldchenbehandlung [silbern verzinkt | — | (siehe unter www.chambrelan.com) _a_@_| 20.03.2016 ‘)
— Gewicht | 6.9 kg/m | L 300[350[400[450(500[550 [600]650]700]750]800[850[900 [950[1000]1050]1100] 1150] 1200
— mdgliche Sonderanfertigungen : ¢ 1501200 = [ = | =] == | =] =]=f=]=l=f=)=]=l=|=]=
E — | = J200{250300| - [ - | - -1-1-1-1-1-1-1-=-1-1-1-
Sonderldngen, Oberfldchenbehandlungen, F — | = = =1 - [150[175]200]225]|250]275|300(325[350|375|400 [425 [450 475
¢ Bohrungen und Lochabstdnde. G — | = | = | = | = |200]225]250]275300]325|350(375 [400[425]450 475 [500 525
D 470[540(630(700{770 840 |930]1000] 10701140 1230] 1300] 1370] 1440] 1530 1600] 1670[ 1740] 1830
[l Belastung*(Kg)|[ 75 | 92 [106]112]116]114]111]105] 98 J90 [ 8273 [ 64 [56 [ 50 42 [ 36 [ 30 [ 25
ADlE SCHIENEN NICHT DEMONTIEREN ! Durchbiequng || 9 [12 [ 15| 1819|2021 |21 222221 [21 21|21 |22 22|24 25] 26
| [Belostung*(kg)|[ 30 [27 [25[22[20[ 18 [17[15[13[12[11[10] 8 [ 7 [ 6
DIE TELESKOPSCHIENE DARF NICHT VERANDERT WERDEN! Durchbiegung || 10 [ 14 [ 18 | 20| 23|26 | 29| 32| 35|39 | 42| 46| 50| 54 | 60
Um die stindige Verbesserung unserer Schienen zu gewthrieisten, behalten wir uns ohne | | | | |
A vor. Keine ver D V G H | J






